restart
SolGral == y(x) = _Cl-exp(3 x) + 457
SolGral == y(x) = _CI e 44y

SolGralHom = y(x) = _CI S
SolGralHom = y(x) = ClI e

SolGralPart = y(x) =4 e
SolGralPart = y(x) —4 5

EcuaHom = diff (y(x),x) —3-y(x) =0

EcuaHom = E y(x) —3y(x) =0

QO = eval(subs(y(x) =rhs(SolGralPart), lhs(EcuaHom) ) )
Q:=-12x"+8x
EcuaLinealNoHom = lhs(EcuaHom) = Q

EcuaLinealNoHom = (x) =3y(x)=-12 ¥+ 8x

d

dx Y

SolGralFinal = dsolve( EcuaLinealNoHom)
SolGralFinal == y(x) =¢, S 4452

restart

Ecua :==y"-4-y'-8-y=0
& d B
Ecua = — y(x) — 4 & y(x) —8y(x)=0

dx2
EcuaCarac = m* —4-m — 8 =0
EcuaCarac == m* —4m—8=0
Raiz = solve(EcuaCarac)
Raiz=2+23,2—-23

SolUno = exp(Raiz[1]-x)

SolUno = 6(2 +2/3)x
SolDos = exp(Raiz[2]-x)

SolDos = e<2 —2/3)x
with(linalg) :
WW = wronskian ([ SolUno, SolDos], x)

e(2+2ﬁ)x 2-2J3)x

ol
WW =

(2+24F) 22 (22 y7) 2-203)s

Determinante := simplify(det(WW) ) # 0
Determinante := -4 \/? et £ 0
SolGralFinal = y(x) = _CI-SolUno + _C2-SolDos

SolGralFinal := y(x) =e(2 _2‘/T)x_cg +e<2+2‘/3—)x_C]

Comprobar = simplify(eval(subs(y(x) =rhs(SolGralFinal), lhs(Ecua) — rhs(Ecua) =0)))
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Comprobar :== 0=0
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